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Calculus Practice: Implicit Differentiation 2a

For each problem, use implicit differentiation to find y' at the given point.

1) 4x=(3xy +5)*at(1,-1) 2) (y2+1)=4ax?at(-1,1)
A) At(1,-1),y =1 &) AtL 1), y,:%
B) At(1,-1),y' =—
) Atll, 1),y 3 B) At(-1,1),y' =-2
3 C) At(-1,1),y' =1
O atll, 1)y =7 D) At(-1,1),y =-1
D) At(1,-1),y' =—4
3) 4x>=(y?+1)%at(1,1) 4) 4x=(y*+1)%at(1,1)
A) At(1, 1),y ==2 _ 1
B) At(1,1),y' =1 A) A1),y 2
5 B) At(1,1),y' =-1
C) At(1,1),y === e
) ALy == C) At(1, 1),y =1
D) At(L 1),y g D) At(1,1),y =2
5) (4y® +5)°=xat(1,-1) 6) (5y°>+3x*)*=x>+3at(1,-1)
A) At(1,-1),y' = 11 &) At(L 1),y = 27
B) At(l,-1),y' =—
e B) Atll,-1).y =-—
C) At(1,-1),y' =——
) al -ty =-3 C) At(1,-1).y =1
D) At(l,-1),y' =24 D) At(1,-1). y :_2?0
7y 5 +5=In y?at(-1,1) 8) 4x>+5x> +1=In X’y at (-1, -1)
A) At(-1,1),y' = A) At(-1,-1),y' =7
B) Atl-1, 1)y =3 B) At(-1,-1),y =
C) At(-1,1),y' =—
) AL 1),y 2 C) At(-1,-1), y' =-10
D) A1 1)Ly = D) At(-t. ). y'=0
15
9) Iny>’=x+1at(-1,1) 10) In y> =2x+2at(-1,1)
A) At(-1,1),y' =% A) At(-1,1), y' :%
L1 B) At(-1,1),y' =1
B) A1 1)y =g C) Atl-1,1),y =4
C) At(-1,1),y' =1 .3
D) At(-1,1),y' ==
D) At(-1,1),y' =2 ) At(-L 1),y 2
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11) 3x* +3=1n xy* at (-1, -1)
A) At(-1,-1),y' =0

3

B) At(- =

) At(=1,-1),y' ”

10

C) At(-1,-1),y' =3

D) At(-1,-1),y' =-3

12) In X’y =3x+ x> +4at(-1, 1)

For each problem, use implicit differentiation to find y'' at the given point.

13) 5x°*=3y*+2at(1,1)

A) A1, 1),y = -2
N 16
B) At(17 1)> y :_E
.9
C) At(1,1),y =3
N 5
D) At(lal)ay :_Z

15) —y2+5:xat(1 2)
A) At(1,2), y
B) At(1,2), y"
C) At(1,2), y" 3—2
(1,2), y"

17) 2x> +3y*=5at(1, 1)

A AL 1),y =2

B) At(1,1),y" =2

C) At(1,1),y' _17

D) At (1> 1)5 y" :_%

19) 5x—2y>=2at(2,2)
A) At(2,2),y" =0

B) At(2,2), y" =—§
32
C) At(2.2 "=
) At(2,2),y s
25
D) At(2.2 QN
) At(2,2),y 8
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14) 1=5x—4y?at(1,1)
A) At(1, 1), y" =3

25
B) At(1, 1), y" =—=>
) At(1,1),y »
64
0 At(1, 1),y =2
) At(1, 1),y s

D) At(1,1),y" =175

16) 5x—4y>=1at(1,1)

25

A) At(1, 1),y =-==

) At(1,1),y o
B) At(1,1),y" =0
C) At(1,1), y" =-3
64

D) At(1, 1),y =—
) At(1,1),y s

18) 4=5x—y*at(1,1)

25
A) At(1, 1),y ===
) At(1,1),y %
B) At(1,1),y" ==
4
3

C) At(1, 1),y =-=
4

D) At(l,1 "=
) At(1,1),y >

20) 1=x—y%at(2,1)

A) At(2,1), y" =-1
B) At(2,1), y" =1
C) At(2,1), y" =4
D) AL 1)y =
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11) 3x* +3=1n xy* at (-1, -1)

A) At(-1,-1),y' =0
3
B) At(- ==
) At(=1,-1),y' ”
“0) ALl 1)y =
D) At(-1,-1),y' =-3

12) In X’y =3x+ x> +4at(-1, 1)

For each problem, use implicit differentiation to find y'' at the given point.

13) 5x°*=3y*+2at(1,1)

A) A1, 1),y = -2
N 16
B) At(17 1)> y :_E
.9
C) At(1,1),y =3
N 5
*D) At (1> 1)5 y :_Z

15) —y2+5:xat(1 2)
A) At(1,2),y"

B) At(l,z),y
+C) At(1,2 —
) At(1,2), y" = 32

D) At(1,2),y" =
17) 2x> +3y*=5at(1, 1)
_10

*A) At(1, 1), y" =
B) At(1,1),y" =2

C) At(1,1),y' _17

D) At (1> 1)5 y" :_%

19) 5x—2y>=2at(2,2)
A) At(2,2),y" =0

B) At(2,2), y" =—§
.32
C) At(2,2),y =5
N 25
*D) At(2,2),y =15
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14) 1=5x—4y?at(1,1)
A) At(1, 1), y" =3

*B) At(1, 1), y" =—§—j
. 04
C) At(1,1),y =5

D) At(1,1),y" =175

16) 5x—4y>=1at(1,1)

*A) At(1, 1),y =—§—i
B) At(1,1),y" =0
C) At(1, 1), y"=-3
64

D) At(1,1), y" =—
) At(1,1),y s

18) 4=5x—y*at(1,1)

N 25

A) At(lv 1)9 y :_5

“B) At(1, 1), y" =—%5
3

C) At(1, 1),y =-=
4

D) At(l,1 "=
) At(1,1),y >

20) 1=x—y%at(2,1)

A) At(2,1), y" =-1
B) At(2,1), y" =1
C) At(2,1), y" =4
D) At 1)y =
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